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“3TE | AT HAT A HE - TG ¥ A Gog Well @ | A, 7 61, 70 99 A 3 R I & |7
T I T TN B U @ ft - 5 Fg Bl ¢ HU AN | Tg Ig FheT wge g 7, foha
sl g &, 38 Tehdl gom 8, w1 WS U | el ® wehar 7

“Ig I WM W A A ¢ IR YW I WH W | 7 fowits W fufa o &% 7, 36
HH-TITEl % TG &l @l §; U8 T Y9 I §1d 1 g §¢ HL HI 910 ARG Tt 7 | 31eft
b g it 10 B, T-GER H T HU, I H IG BU | B S Fd Hh 7 TS Bl
fofeama % <l 17

6. |8 HuTe 3 WA STEfE FT UETR I U1 H I hl ST hid oI & 7

HERAT T

7. | U Hart %A e W Ueed IO A H o gt B 2
T S it e -che O el T Al g 2

8. | HgRraq 3R 3 WERI 1 FT TAIY §IT ?
EERERUBEEEIREAC RIS Gk

9. | FaRl s WA ¥ g I & F el gt 7 ?
3R g Tl 0 ST Ushe W WR S gTeATd gift, 360 &< o fore |

10. | “zm 3g &I 5 %0 AN | Iz Ig Frd TR BT B | 39 91 i fope fored vt
T gl - quit |
fder (9.49. 11 - 15) : fr=fafed mem %1 Tewt 1 ™ WA % IR T |

% HE HEH S I I | g8 I diel TEER <@ W o1 fh 9 qEE H @E W F gh,
AEFAN T TG T3 ST ST § Tehgl dl G gawrsg 1 qati H Sfehs Hfiw & oot 61 A1g 3n
T | 77 garg h & Sh o | Y gasg 4 Eeid gT IBT, hal @ i 7 31 9, g3 wo o
MG |’ IR S W T gaa TRl TR H 3T T A1 3ai TIUTET S8 d IH Tehgehl T R
ST |

T Hih T EH L A el I FHIR H ¢ qd &, B A WS oWd &d & | ‘H # @ H T
e ? 91 W3 3T HHSH holsl § N forn 2 @A @ | B SO qaen & 39 fen | qaen
ST, IHhT Yoatl # €9 fea fop qgt wiom o fo § gausg & ra w1 § | foeh 1a & s il
AT foh ‘% SO TEUS AR g HRX T h WY dSH AW HI qI-dH G gFERI a1 i & |
39 GIAT o S 9§ IS Tk 98 W el N al H4 IR 3 HH HI o= Ragew fea iR
1508, Selelt <8 Suh afgl ¥ BIg @ | WG % IR Hic B d1 Y W BT fh 98 ATEA B
orel 8 IR B | B9 1 gaUsg T9 AT B, a1 gaa & 3 @1 31y |

W g W e AT H QU B | 35k Y W T 3T, Skl e % gieatd o 99 fuvg Jehe &
-9 Tl T hl STohg, FI41 H Befehdl 98 W Wg 3N 98 Haibed aroft |
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e, ‘vt geg Al MEN ¥ 3T R TheH qHY A = 3T, SE AT S U @US GHL §TUS ¥
e I 3G @A B | 3T & IS S HEEd | ol I T 7, I8 G AU A a1 T oo | 3™
g3 # HI3 TESH IFE 3T T @A | $B o § feiy freamerdt g # | 9 3ee, ia %
T3 38 sierd & | 3% g@ & frsrm, Fswies gg @ fevetar 2 | R wh feder W@ 8 | 9 3R
TEE I W@ & SR I B, q o Fadl, Herehdl o @ E |

M. | 5@ ‘& 3 ohge St 1 3197 918l § STeheT a1 3= fohH TG 1 TEHH §IAT 7
YATSg Tht YA § g W o Jae! ot A1 AT |

12. | Tuselt Ud 37 U i 3 &6 o S H I haT o1 7
‘® A T F A EreTem g St R AT oft |

13. | Tseft @ ‘&’ Hal T RGN AT ?

U TG |

14. | 99 ‘% d@s St 9 fieq 3171 8 a1 oiges S 3 38 91 =4 foeam 2

G S A IR B 370 1 <l Raaerem A g elcl g Sl Seh aig A s an |

15. | S St o U NedeR 08 o @ & 3R 3980 98, @ o & Ha ¢
FHEAHA S EIE |

16. | fr=fefea & & HH- 91g g1 TG & @R gRI 1A A1 39 A& g off 7
gl

Which of the following metals was not known or used by the people of the Harappan
Civilization ?

Iron
17. | ©icr Iufive oy w9 4 fefeifad 3 @ frg snem w1 defifa st 2 7
TR, e SR AT

The Chhandogya Upanishad clearly refers to which of the following ashramas ?
Brahmacharya, Grihastha and Vanaprastha

18. | faftess & fope W o §g <t aruftes e € 7

g fUew

Which part of the Tripitaka contains the conventional teachings of the Buddha ?
Sutta Pitaka

JF4 3 MASTER SET


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

19. | 23 & <fiefert qredaTer & e Udish w1 8 7

2

|amu

What is the symbol associated with Parshvanatha, the 23" Tirthankara ?

Snake

20. | %gemA & AR @ & geu gite 1 3o 7, fSaesr fmfon foeg o4 wmaess & st o
7 A1 7

RV LR

The Girnar Rock Inscription of Rudradaman refers to Sudarshan Lake, constructed during the

reign of which Mauryan ruler ?

Chandragupta Maurya

21. | ‘sepiqrtes fewett 31 fean e fohoeh gra ShIfTa <l 778 oft 7
HAR.E.

The book ‘Economic History of India’ was published by
R. C. Dutt

22. | ‘amd & g 3fes B9 6 &9 W 50 1 S 8 7
TETHTE TSl

Who is known as ‘Grand Old Man of India’ ?
Dadabhai Naoroji

23. | wRd SISl YEAE e U foham o ¢

SAMET 1942

Quit India Resolution was passed in
August 1942

24. | g 9% 19 I MRA Sl ST hl STeedn fohee it ?
T forgrft s

Who handed over the Presidentship of Indian Independence League to Subhas Chandra Bose ?

Rash Behari Bose
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25.

“BES s hl TAT9AT fopE <t 7
guTS =g i

Who founded the ‘Forward Bloc’ ?
Subhas Chandra Bose

26.

fieaa o srqa TG A gl AT 2 |
TR
The Brahmaputra River is called in Tibet.

Tsangpo

27.

frafafed & & HH-91 U7 o & AAfd-crg S gad TR THE T 91 H @7 7

ESIC)

Which of the following States faces the most serious issue of groundwater over-exploitation ?

Punjab

28.

fireart dieni & ffafea § & -1 Sgges g § 7
T WeRUT & feru e a=

Which of the following adaptations is common in desert plants ?

Thick stems for water storage

29.

fafafa # @ -8 97 @R ot F 3gERA & 7
D Gl
Which of the following forests are adapted to saline water ?

Mangrove

30.

foreft <1 % B, SRR IFATYY! Sh1sal § fawTSH ol -1 Ieg qufl & 7
HTeeh-TehTUT

What term describes the splitting of a country into smaller, often hostile units ?

Balkanization

31.

“SHigIg 3% FHAMF THG - I8 % fraes gry forar w2
Hifer FoTeh

“Conditions of Economic Progress” - This work was done by
Colin Clark
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32. | wra # o™ #1 LPG Afed o yeqa fopam o |

1991

LPG Model of development was introduced in India in
1991

33. | “SgoruHe wIHT-g 3fe9T THHIRT= IRk gr foredt g off |
GEwE Akl

“‘Development Planning — the Indian Experience” book was written by

Sukhamoy Chakravarty

34. | vRA § TR T AR FRE a9 qIia g3 o1 ?
1986

Consumer Protection Act in India was passed in the year
1986

35. | YR srefegeeer & fg 2
HY

The backbone of the Indian Economy is

Agriculture

36. | URd AU % 3108 57 % IIEN i3 A S % ®9 U g YN Hl 7, A1 e
ug grRoT Tk ], 59 Gfqe™ o 311 WagHi & 31ef, 39 ug W YH:-FATd o oI Ut g |

egufa

According to Article 57 of the Indian Constitution a person who holds, or who has held, office as

shall, subject to the other provisions of this Constitution, be eligible for re-
election to that office.

President
37. 1 31 IR Gfau™ o 3TT=8¢ 243Q % AT TMSd TRIeH hl T 2 |
TRATTeAHT

means an institution of self-government constituted under Article 243Q of

the Constitution of India.

Municipality
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38. W H Th Y 37Tk TR H THER H A& HI i 7 |
LRI
refers to the existence of more than one level of Government in the country.
Federalism
39. | u¥H HA AR fe o USiS & ofi o AEI 37U i el STl & |
I Rl
The time gap between the question hour and the agenda of the day is called
Zero hour
40. | R wiga™ 6T =8 129 & 77, 1 firei@ =1 =T =ifvd e R
g e
Under Article 129 of the Indian Constitution, the has been declared as a Court of
Record.

Supreme Court

41. | fawerat w1o & fore fore Suentor =1 SuiT femarm ST @ 7
Aol

Which instrument is used to measure potential difference ?
Voltmeter

42. | 2 TfFRR fagd 9w yaTfed S ATl AR % &1 [Sg31 o die favei 0.1 diee @ | 39 fogat & &=
vl w7 ?
0.05 3

Potential difference between two points of a wire carrying 2 ampere current is
0.1 volt. What is the resistance between these points ?
0.05 ohm

43. | 9 TEEIe AMNHIT SSHT oIl ol TN hidl 3 i 3T(shan 901 & auHE W =1 99Te g1
77
araaE fran @

What happens to the temperature of a reaction mixture when a chemical reaction absorbs
heat energy ?
The temperature falls

44. | wThfaes 19 % e i SHeATardt AR % &9 § FT aiiea foRa ST @ 7
e 3| rfferan ® et 3= gl @

Why is burning of natural gas classified as an exothermic reaction ?

Because heat is produced in this reaction
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45. | wgea o sl <l qg1 3R Hqer forees gro Frafa g 2 7
Afteem

In human beings, the posture and balance of the body is controlled by

Cerebellum

46. ) 1
1 =21 40 fiFe 1 125% oI

12.5 fie

1
125% of 1 hour 40 mins is

12.5 mins

47. | 2 GEHI3T T UHEBA 1530 8 3N ITH A.9.9. 15 B, @ IH1 A.9.9. F1 8 7
102

The product of 2 numbers is 1530 and their HCF is 15, then their LCM is
102

48. | f=fafiad § @S-8 319y 9@ T8 8 7
57

Which among the following is not a prime number ?
57

49.
afe s el e & e i SO o & T, @ S Fre 2 1w

T ?

3
4

1 1 1
If you subtract 2 from a number and multiply the result by o, youget g. The number is

3
4
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50. | /290 frm 2 orTraR ot} % e o @ 7
17 3R 18

Between which two consecutive integers does /290 lie ?

17 and 18

51. | gha 1 A afeat & 3 ges 9 &1 wh uiE 2 | uier # fohad qew gee €
2

Suket has three daughters and each daughter has a brother. How many male members are
there in the family ?
2

52. | us wal gl I e i g3 2 =2 20 fime o foat wiofi ¢t @3 &aft ¢
840°

How much angular distance will be covered by the minute hand of a correct clock in a period
of 2 hours 20 minutes ?
840°

53. | s 1 g g T @ T e G G @ 9 2, e e 3 9 & o
T @ 91 2, g ST & B @ | 3 ged 91 H 8 7
e

The age of Amit is same as Sumit because they are twins, Richa is younger than Sumit, Richa
is younger than Jyotsana but elder than Saurabh, Sumit is younger than Jyotsana. Who is the
eldest among them ?

Jyotsana

54. | farferfad & & fir g 9T |
THTES

Find the odd word from the following.
Bat
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55. | fmfafaa e sfaen § wei fag (7) % wW W @ s 7

4,12, 36, 108, 324, ?
972
What comes in place of question mark (?) in the following number series ?

4,12, 36, 108, 324, ?
972

56. | frefafaa § @ fFd 2024 § FU-3U F RAC 3T TEER (TmEwersn) e 7
TREAehTA ST UeaRt

Who among the following received the Arjun Award (Lifetime) in 2024 for Para-Swimming ?

Murlikant Rajaram Petkar
57. | 18 1 Yot WRA fea@ (PBD) ¥FHe 2025 el TR foha =1 o 7

Where was the 18" Pravasi Bharatiya Divas (PBD) Convention 2025 held ?

Bhubaneshwar

58. | WRA G AU foRT ohe 3TT® (IBCA) e & foham mam o ¢

9 319, 2023

When was the International Big Cat Alliance (IBCA) launched by India ?

9 April, 2023

59. | 26 fegist, 2024 w1 form 2o I SRRFR FAFRH S T gEREIRH @EA UAV-122 %1 dhd wlem
T 7

T

On 26 December, 2024, which country successfully tested the firing of the supersonic missile
UAV-122 from the Bayraktar Akinci drone ?
Turkey

60. | 2025 H et Tohead =1 GEHRT 61 GISon 1 71E, TEH T et Al (U & &9 H fimy mm) off
e 8 2

139

How many total Padma Awards were announced in 2025, including a duo case (counted as
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one) ?

139

61. | Sfeea g2, T8t 6 Sadt, 2025 i 30 &A1t 6t =won 6, fohg T 6 JaEEf 9 7

<hdlST

Justin Trudeau, who announced his resignation on 6 January, 2025, served as the Prime
Minister of which country ?

Canada

62. | oty fraer 1 1 SFEd, 2025 %1 HEEtae e foham |
THITUEE T ST ShivH TUE SSRI AT 3ea1 (ASSOCHAM)

Manish Singhal was appointed as the Secretary General of on 1 January, 2025.

Associated Chambers of Commerce and Industry of India (ASSOCHAM)

63. | wRdE e &% (RBI) deohel HHT-UR G YA H&W i & e fope il vee o wifte

gAR 7
Tiere e

Which international initiative has the Reserve Bank of India (RBI) joined to enable instant

cross-border retail payments ?

Project Nexus

64. | TE HIgFAN 2025 HRA 3R fore g1 & off9 st e s 2 ¢
|

Exercise CYCLONE 2025 is conducted between India and which country ?
Egypt
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65.

W 1 ygen faqelt 5 ity g fopm <o o & g3 ?

b2 b

India’s first overseas Jan Aushadi Kendra was installed in
Mauritius

66.

Trer’ ford T 1 Ush U feh Wik e &9 8§ 7
L gy

‘Maach’ is a traditional folk theatre form of which State ?
Madhya Pradesh

67.

AT ] TG R 7
T

What is the capital of Cuba ?

Havana

68.

e Tfiq form Tw o1 e Tfa @
IR TSI
Rasiya Geet is a regional song of which State ?

Uttar Pradesh

69.

o fadees & gay ° fefafgd # @ sH-Tm FA a1 @ ¢
38 HAA FHHEHT | U fehall ST Ehell ¢

Which of the following statement is true regarding the Money bill ?

It can be introduced only in the Lok Sabha

70.

27 fodsw =t % ®Y H HAE1 SR |
forva wien feem

27" September is observed as

World Tourism Day
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7. | Sl e I8 @13 (ICAO) 1 J&ITeid shal fd 8 7
Hiteas

The International Civil Aviation Organisation (ICAQO) has its Headquarters in

Montreal
72. | poeTied TSR 9 WA & T U9 8 fRq 8 2

TSI

Keoladeo National Park is located in which Indian State ?
Rajasthan

73. | vrd o yifr Efer foRae TET % W Emen At ® 7

7

India shares its land boundaries with how many countries ?

7
74. | vd 9 1983 Tshehe fava a0 wigaar A fore &\ Al gw=m o1 ?

HEEE

India defeated which team in the 1983 Cricket World Cup final ?

West Indies

75. | &7 ITEYM Ud e H§18A (DRDO) i TT9AT fohd a1 73 off ?
1958

Defence Research and Development Organization (DRDO) was established in the year

1958
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i (0.4, 76 — 80) : Tr=fetfiad SRR 1 g sremem i St = fow o et &% SWE |

fen T SR UTE ufe STET-3Ter ghMl § o= TS afewdt (SR 3R qeft) (Fepctime ) i A 5
ST 7 |

Direction (Q. No. 76 — 80) : Study the following information carefully and answer the
questions given below.
The given bar graph shows the quantity of vegetables (Carrot and Radish ) (in kg) sold in five

different shops.

990 936
900 864

810
720
630 576
540
450 432
360
270
180
90

792

648

576
504 540

A B C D E
B Radish || Carrot
| kil BRIE

76, | F B = TTQ el % AT A, C 3R D § 9 T el i 31T6d HET 8 3R F § o T gefl S TS
UM 4: 58 | FH o< 7 TR 61 7T A1d I |

780 kg
The quantity of Radish sold in F is the average quantity of Radish sold in A, C and D together

and the ratio of the Radish to Carrot sold in F is 4 : 5. Find the quantity of Carrot sold in F.

780 kg
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77. | B3R D® o9 MU TSR h AT E § St 7E wfeori bt et A b1 feha gl @ 2

87.8%
The quantity of Carrot sold in B and D together is what percent of the total quantity of
vegetables sold in E ?

87.8%

78. | AT 99 MU Wy T AET A 3R B H 99 T qelt A6 3R C 3R D H 99 ¢ MR K w6 A
AW 2 | AH = T wlewEt hit Fo W @ FIA | (TR, gt 3R F)

1152 kg

The quantity of Pumpkin sold in A is the difference between the quantity of Radish sold in A
and B together and the quantity of Carrot sold in C and D together. Find the total quantity of
vegetables sold in A (Carrot, Radish and Pumpkin).

1152 kg

79. | B3 F § 9=t T Aioqal ! el HHAT 1 A 32 : 358 | F 3K D § o=t T8 Aol hl T&1 &

= AT G Y |

108 kg
The ratio of the total quantity of vegetables sold in B and F is 32 : 35. Find the difference
between the number of vegetables sold in F and D.

108 kg

80. | wft ghMI H TOR A et it A H R AR B 7
612 kg

What is the difference between the quantity of Carrot and Radish in all the shops together ?

612 kg

fidw (9.9 81 - 85) : Trfoifgd M w1 ey e ST T % IR S |
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= feu T W@ 7T SR SAeRT-3Te gl AT A, B, C 31X D g1 99 T atcl Wise U9 i §E&AT Hl
ST g TR A1 & IR AT-3T G gRI 99 7T Sl 99 shl TEAT 3R IR 31T -3 Gl
BRI 9 T B3 A hi T ft € TS 7 |

Direction (Q. No. 81 — 85) : Study the following information carefully and answer the
questions.

The given line graph shows the number of ball point pens sold by four different shops i.e. A, B,
C and D and also given the number of gel pens sold by four different shops and the number of
fountain pens sold by four different shops.

400
| 360
' \ 320
' 300
300 -
' 270
| 240 280

| \_/
200
| ¥ )
. / 200 180 180
1140
100l 120

100

0 |
A B c D
4 The number of ball point pens sold
& = MU S @Ee U9 S EE
The number of gel pens sold
o T S U9 H

# The number of fountain pens sold
& o9 T FEA T H T

81.

T F g 99 T HA 97 H § 40% U ®1Sed U4 8 | AfE G D g o=l 7T B3 U hl HE&AT
THM F 8 39 34 2, @ §HA F g1 o9 T 9 Hl Hol T T HIT |
600

Out of the total number of pens sold by shop F, 40% of the pens are fountain pens. If the ratio
of the number of fountain pen sold by shop D to shop F is 3 : 4, then find the total number of
pens sold by shop F.

600

82.

afe ghM E g0 S T siel Wide, Sl 3R BISe U hI ot T g C 1 ol H 33.33% A B

JF4
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3R G C g1 9 7T HI3A U 1 HEAT I ghM E & 3T 7 : 58, a1 ghM E gRI =1 T st
wWTEe 3 St U T ot AT 14 I, |

320

If the total number of ball point, gel and fountain pens sold by shop E is 33.33% less than that of
shop C and the ratio of the number of fountain pens sold by shop C to shop E
is 7 : 5, then find the total number of ball point and gel pens sold by shop E.

320

83. | g A G SN U Siiel Wige 3R BRSSO 1 Fod e I g D G S T Sl wige A
Fo T % T AT AT B |

230

Find the difference between the total number of ball point and fountain pens sold by shop A and
the total number of ball point pens sold by shop D.
230

84. | gopM A T 99 U ST W U h FA HEAT gHH A 3TN B FR A9 T B U h FA TEAT F
3T A L |

1:4

Find the ratio of the total number of ball point pens sold by shop A to the total number of

fountain pens sold by shops A and B together.

1:4

85. | ghM A 3T B g 99 T e U hl H TEAT g B G o9 7Y §icT Wige U hl HeT HEAT hl
fepa wfosra & 2
120%

The total number of gel pens sold by shops A and B together is what percentage of the total
number of ball point pens sold by shop B ?

120%
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g9 (9.9, 86 — 90) : AFAHT T LA HL W T AT IW E |
P 31 Q g1 =R 37eT-37er 7EiHi # fore ¢ oot gos (feed + 3ursft) feu e g |
Direction (Q. No. 86 — 90) : Study the table and answer the questions.

Total pages (Hindi + English) written by P and Q in four different months given.

d P Q
Month
w 240 340
May
kS 320 234
June
I i 420 280
July
220 360
August
86. . . .
T3 3R ST # P g fofe T %o I88, W8 3R 3T H Q g for@ ¢ e qeai i e fohern
ferd 8 7
80%
Total pages written by P in May and June together is approximately, what percent of the total
pages written by Q in May and August together ?
80%
87. | g # Q gr for@ U Ha gt 1 28.57% et A B | Q g S # fope 3 s forw T ¢
200
28.57% of the total pages written by Q in July is in Hindi. How many English pages are written
by Qin July ?
200
88. | anft wéiHi # P g fore Tmu Sfiwa s w7
300
What are the average pages written by P in all the months together ?
300
89. | g H P 3R QaH g1 fof@ T i Ieai 3R I # P 3R Q €Hi gR1 foi T it geai & &=
SHEST: STITd T & 7
29:35

What is respective ratio between the total pages written by both P and Q in May and the total
pages written by both P and Q in July ?
29:35
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90. | S # pgr ford TE T3t 1 wfed Q #h qerT H wAW wEN H fopa i @
36.75%

How much more percentage of pages written by P in June as compared to Q in same month ?
36.75%

4G9 (V.. 91 — 95) : TAICTRT HT LT i 3T T HI IW ¢ |
STETT-3TRT HEHI | Ui ST -7 GhHI T sl T W9 |
Direction (Q. No. 91 — 95) : Study the table and answer the questions.

Laptop sold by five different stores in different months.

®R| S| IO | W | SRR
Store | June | July | May | October

| 240 342 234 210

J 230 234 | 432 242

120 338 | 235 234

280 348 342 178

=S| X

326 456 | 362 148

9.
75§ WR K, L 3 M g S9 T A9 shl 3Ed (SRTHT) ST 1 <hIfarT |

313

Find the average (approx.) number of laptop sold by stores K, L and M in May.

313

92. | afe S § WR L g1 9= T 37.5% U QYU §, @ 7 § WK L g 99 T R-Sqol Aueid 1
HIT |

175

If 37.5% of laptop sold by store L in June is defective, then find the non-defective laptop sold
by store L in June.
175

93. | JoTs 3TN HFZSL H R J GRI S 7Y A9eld hl T&AT 73 3R 7 H LR M §RI = 7Y A9elT
fererr wferera 2 7
69.18%

Number of laptop sold by store J in July and October together is what percent of the laptop
sold by store M in May and June ?
69.18%
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94. | S ¥ VR K 3R L g 9 ¢ Aueiq 3fR 78 § | 3T M g = ¢ A9eiq 1 39 R 2 7
100 : 149

What is the ratio of the laptop sold by store K and L in June and the laptop sold by | and M in
May ?

100 : 149

95. | 31 § WR | R 9 T Fed AU, GhH H Pl AU Bl 71.42% B | TR T § W | & 7 forb
el olueid <hl T 1d e |

84

In October total laptop sold by store | is 71.42% of total laptop in the shop. Find the number of

unsold laptop in store | in the month of October.
84

96. | Choose the correct question tag for the following statement.

The windows are open,
aren’t they ?

97. | Choose the word which is nearest in meaning (synonym) to the given word.

Admire
Praise

98. | Choose the indirect form of the given sentence.

| said, “The teacher likes me”.
| said that the teacher liked me.

Direction (Q. No. 99 and 100) : Read the passage and choose the correct option to answer
the questions that follow :

Advances in Electric Vehicles

Electric Vehicles (EVs) have gained popularity as an alternative to traditional gasoline-
powered cars. They offer environmental benefits, such as reduced greenhouse gas emissions
and lower air pollution. Many countries are investing in EV infrastructure, including charging
stations, to support the widespread adoption of electric vehicles.

99. | Which of the following is a type of EV infrastructure ?

Charging stations

100. | Why are countries investing in EV infrastructure ?
To support EV adoption
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